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WZEHEMTHLDLLTHL,

HExd=5cm=0.05 m

K7V =100 cm®/min =1.67x107°m* /s

HoOWERES 1%

2 2
S:mi :(3.14164)(0.05) 1.96x10-% m?




-6
uy =Y ZLOTXI0T g0t
(RIS SRR S 1.96x10
RN E STV 7200 TEEEMERR ST 20°C DfE % VT

y=1.00x10"°m?/s
LA LR Rea 3

4
e, ~Und _ (8.49x10J0.05) _ 1o 0 a0

y 1.00x10°°
L o ThEt,

3.15 W& O0.1m DENIZ T0°CDXK% 500kg/h THT, = DHFESDREEL HEN B
ThHINEILTH I E2HER X,

fig) KB4 EHNTHWTT 5, BANCBIET 2% S T HALOFEARRNAL L 2 DffiAa b
WCEDHMTHLD L TEL,

md=01m
g%ﬁ%W: 500 kg/h =0.1389 kg/S
P198 Oft# 3 LV 70°CDAKDEEIL 977.8 kg/m?3
P198 Off# 3 LV 70°C DK DERRMHAREIE 0.4131 mm2/s=4.131 X 10-7 m3/s
Lo T,
~0.1389
IR & 977.8
EoOWmERES 1%

2 2
:”j :(3'141?(0'1) = 7.854x10°m?

=1.420x107*m3/s

S

4
_V _ 1420610 _, 609,102 mys

um— =
NS R S 7.854x10°

LA LR Rea 3

u,d  (1.809x107)0.1)

Re = m —
Ty 4.131x107

=4380> 2,300

X o THELIR,






